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Seat No. :

DA-102
December-2020
M.Com., Sem.-I1I

| 501: Personal Tax Planning

Time : 2 Hours] | * [Max‘. Marks : 50

Instructions: (1) All questions in Section — I carry equal marks.
(2) Attempt any two questions in Section — L.

(3) Question 5 in Section —IT 1s compulsory.

SECTION -1
Attempt any Two :
1. Difference between Tax planning, Tax avoidanceand Tax“Ev_asﬁ_igp_x | | 20

2.  Mr. Shaileshbhai 1s emp.lojked With'Sa_m'i Govt. and having age 50 years. He has provided

following information .td'yeu_fo'r- his estimated income of financial year 2020-21. Keeping
in mind relevant deduction"o_f incomge tax act, of salary head, advise him fpr tax planning.

~ Determiine his_; mmithl_y_ TDS liability according to your advice. ~ 20

~Monthly Salary 32,40,000 '

\ GBE@ 10% 0fsalary

__ He has borrowed loan to acquire self-occupied house and paying monthly instalment of

-+ T 15,000. '

For the previous year he has obtained provisional certificate from bank stating

classifications towards payment of principal amount Z 77,400 and remaining for interest.

Standard deduction ¥ 50,000, Professional tax X 200 per month.

His mother and father is senior citizen. He has planned to'take mediclaim policy for family

members. His family members are wife, daughter and parents, whether he should go for

new tax regime or not ? Suggest him.
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‘3. M. Rupesh transfer the following long-term capital assets during the previous year 2019-
2020 ' - .

Particulars

20

';Agri_;:ultu;ial
‘j'lﬁﬁd in urban
' area -

House-I1

Date of transfer

Sales Considerations (Selling price in %)
Purchase date of property

30-12-2019 | 12-04-2019
29,50,000 | 11,32,500
°30-06-2012 |, 31-08-2018

31-01-2020
- 15,39,800
01-04-2001

Purchase price (In ¥) 2,40,000 4,00,000 | 9,35,917
Transfer expenses 15,000 80,000 v 28 00
Renewal expenses on 31-01-2004 87,200 = A "*
Purchase of new House 6,00,000 13,50,000 o 15,65000°
on 01-02-2019 | on 20-06-2020 | on 14-04-2019
Investment in NHAT bonds -\ N al -~ 1,00,000

» on 05-10-2019

Index cost

2001-'02 100 | ' 100
2003-'04 109 | 109 |
2012-'13 200 200
2018-'19 A % B 280 | - 280
2019-20 A \ 289 289 289

Calculate capital gain for the A.Y.-_2020-'21. Under section 54, 54 EC and 54 F which kind
of tax planning was to be done by Shri Rupesh ? Give your advice to him. -

4. (A) Shri'Bir.nal Shah 'élibmits you the following particulars of his estimated income for

the financialyear 2020-21 : 12

W, LY, Taxablé Income under the head salary | ~ ¥6,00,000

¢ 8% interest on Government Securities of T 2,00,000 (TDS 10%) (Gross) T 16,000

Ik Interest on Debenture of AMC of 2 1,50,000 (TDS 10%) < 9,000

“1V. Interest on Debmture:s. 0f < 2,50,000 of TATA Ltd. (TDS 10%) < 32,400

(Debenture is not listed at recognised stock exchange)

V. Interest on Debentures of T 3,00,000 of 'Baj a) Ltd. (TDS 10%) < 43,200
‘(Listed on BSE) . ey |

VL. Interest on tax free Debenture of ¥ 2,00,000 of Maruti Ltd. (TDS 10%) 16,200
~ (Not listed) . - | ' | |

Assuming bank charges are 2% on amount collected. Determine the tax payable by
him for the assessment year 2021-'22 and give suggestions to reduce tax liability

through proper tax planning. What will be your opinion to Mr. Bimal Shah if he goes
-for new tax regime 7 *

(B) Explain the circumstances to reduce or waive interest (Section 234A, 234B, 234C).
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Ahmedabad citizen Shri

(©) 22,73,000
(2)

K- v | . o | : |
: (;r::bhaf is .77 years old. For the A.Y. 2020-"21 'his annuaﬂl
ut his total income tax liability as per old tax regime. |

(B) ?2,60,000
(D) none

Income is ¥ 15,00,000. Fj
(A)  T2,70,400

Induben' got Pr
ofit .
X 1,00,000 on sale of Assets, situated in America, out of which

75% amount rece;
e - ceived in Ahmed: : . : |
Resident and Non-Residen edabad. Find out taxable income for Ordinary. Resident, )

(A) ¥1,00,000, % 75,000, T 75.000
(B) ¥ 75,000, % 1,00,000, 2 745:000
(C) ¥ 75,000; X 75,000, 2 1,00,000
(D) None of above

gfgfsé'lg(r)r(l)ﬂngllg;, ;fll;loa 1S ?2 yearg old her annual ificome for the A.Y. 2020-21 is
incom;, ‘ ppl.l_c‘abllv_;-'_: Hc__ja._lth aq_d_'Ed'ucation cess according to her annual
m % N\ '
(C) 4% Pl " A 9 (D) Not appliicable |

According toSéction 37 which following particulars is not included in the definition

of Salary'?”'_ 4

- _(A)__, Wages - (B) Gratuity _
A (€@) Perquisites

(D) Interest on Bank F.D.

Which following assets 18 not included in deemed ownership assets 7

(A) Assets transfer to a mirior child

- (B) Holder of an impartial estate

property as a member of association of person

(C) Holding
ter

(D) Holding property of minor married daugh
wner of house property, which is used for self- occupied

tal house ‘value is ¥ 15,500, Mgnicipal value is T 18,000,
on loan for construction ¥ 15,000.

Income from House Property"?

Smt. Shweta is the o

residential house. Fair ren
and local municipal tax is ¥ 3,000 and Interest
‘ ble income under the head

What would be the taxa

(A) 15,000 . . (B) -¥2,500

(C) Zero () -T15000

‘ P.T.O.
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i (7) | WhiCh 0 £ ﬂleO“GWing assets 1S not cm‘lSidcfing as capital ﬂSSe.tS ?

"~ (A) Personal Car ~/(B), Gold:
- (C) Urbanland | (D) . Goodwill

(8) Which of the following expenses are inadmissible ih context to income from business ?

(A) Incometax : .. = .. .(B) Scientific Research Expense
- (C) Audit fee (D) None S

- (9) . Assets which is acquired and put to use fof less than 180 days during the previous
year, depreciation shall be restricted to of normal rate
(&) 50% ®) 75%
(C) | 100% | (D) “None

(10) Which following income is not includéd under “Income from o
(A) “Winning of lotteries (B) Income from la

(C) - Interest on Securities

~(11) As per Section 208 the liability to pa

(A) 7250000 @ -’ -
(0 ¥1,50,000 \ '
fﬁa ssee is more than the defined liability, under which
onyadditional payment of tax is paid by the government ?

. " (B) 244A |
(D) None

DA-102 | 8




| rﬁme : 2 Hours)

[Max. Marks : 50

s (D amm"A“iaﬁ\{lilalu%h-twwaanh .

T @ Rewl-B iy

5 Reguld B,
- ELA [a.'(i-ua[ - A
Artiell SRt A AL v g
1 AL L LA dlad end). .
2, a5l cull : 2slsq [awg, ' - v 2 ¥y s
3. SEAE 'Qléﬂ@[ih QQHL"D. .’:B-[&:I."l a1 (Efﬁcient frontier) 2 AR AR ML
(Security market -lim:)'ﬂ:'lr'_u_lél Al | | | 20
A7 Bl vt SRR 25 UMWl ' 20
*‘*« - l Rewl—B
s, ol R Rl &% vlel d oveudl : (SSURL YR | 10
. (1) 28 Bret A Hdl e A8 ALQUETAL U B,
(2) 2inad, a2 flrad A ARSI NadlaAl vl IR1A 6.
o (3) Il cAmRHi Al g1, (At AlL (SEB) SR SRAML AR O,
@) 62 W R ANR yRadalle 8. |
(5) Gl W wi{bL 3RE (P/e Ratio) A% guld 8% W LR e 25, 8.

9 ‘P*.T.O. -

DA-102




2 .f, (6) }sr[lac-l l&ﬂawgl ‘HR el ARAL @uzhal uch -12[1
- | (7) agu. &4 Olles '&{lﬁl’-l?-l %ﬂU{éR ulscum w&é g T I

' (8) 25 DERRE aﬂuﬂ-{l ae:gwct @hu‘a uﬁi 413l el 2.

L] L]
g 'e.r

-l“:.:" '1li!

9) A2 58 2 ?-?-‘Pﬁ{& &Hl Aoyl s B,

- 7'(10) 2L A Ay, 531 sl Al

DA-102 10




December-2020
: 'M-C(’m-, Sem-'III
501 e Oldy
. . 0‘1. Investment Management (Old)
“Time : 2 Hours) | ' | i
- [Max. Marks: 50
nstructions : ' ' |
I ns . (1) Attempt any two questions in Section — A.
(2) Question 5 of Section — B is compulsory.
Section - A
Attempt any two questions : .

1. Distinguish between Invesiment and Speculation. 20
2. Write short note on : Technical AnalySis. ~ d - 20

3.  Explain the conceptiof efﬁclent frontler and the concept of security market line for

DA-102

construction of Optlmum pOI’thllO - 20
47 Explain _Capital Asset Pri.cing MOdéI in' brief. o | 20
Section - B
5. “mgidte whethf_:r following statements are true or false : (any five) - 10
(1) Treasury bill is a financial instrument of capital market. -
(2) Options, futures and forwards are securities of financial derivatives.
(3) Transactions in secondary _markE:t are regﬁ]ated by SEBI.
(4) Return on equity shares is flexible.
o (5) 'Highr price to earning ratio indicates that the share is undervalued. - .

11 o g P.T.O.




| (6) Pie g;halrt is not used for techqical analysis.‘

‘_ (7) Zero Cf:)upon boﬁds are;i._ssued premium. | |

I (8) Modern portfolio.thebry 1lwas propagated by William Sharpe.
9) Cheat fund' is a type of mutual fuud scheme. "

(10) ‘ Systematic risk cann'ot'be reduced.

#—-
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